
PERCH KIT ASSEMBLY FOR RAPTOR PROTECTOR™ PLATFORM

JANUARY 2021

Be sure to read and completely understand this procedure before applying product. Be sure to select the 
proper PREFORMEDTM product before application.

1

A
A. Perch Support Leg
B. Perch Frame Mount Bracket
C. Perch Crossarm
D. Hardware:

• 1/4-20 x 2-1/2" Hex Cap Screw
• 1/4-20 x 1-1/2" Hex Cap Screw
• 1/4" External Tooth Lock Washer
• 1/4-20 Hex Locknut w/Nylon Insert

Attach the perch frame mount and support leg 
using the provided hardware onto the platform 
utilizing one of the pre-drilled holes on the frame.

STEP #2

Determine which angle you would like to install 
the perch assembly.

STEP #1

Install the perch crossarm by sliding the 
preinstalled hex cap screw into the slot of 
the support leg. Tighten the hex nut to secure 
the crossarm in place.  

STEP #3

B

C

D

1
2

3

Hex Cap Screws

Lock Washer

Hex Nuts

NOTE:  The perch installs into the 
 same position as one of 
 the Nest Retention Posts.

Hex Nut

Hex Cap Screw

© 2021 Preformed Line Products Company. All rights reserved.



SP3586-1
P.O. Box 91129, Cleveland, Ohio 44101 • 440.461.5200 • preformed.com • email: inquiries@preformed.com

   
 SAFETY CONSIDERATIONS

 This application procedure is not intended to supersede any company construction or safety 
 standards. This procedure is offered only to illustrate safe application for the individual. 

FAILURE TO FOLLOW THESE PROCEDURES MAY RESULT IN PERSONAL INJURY OR DEATH.

 Do not modify this product under any circumstances.

 This product is intended for use by trained technicians only. This product should not be used by anyone 
 who is not familiar with, and not trained to use it.

 When working in the area of energized lines, extra care should be taken to prevent accidental electrical 
 contact. Be sure to wear proper safety equipment per your company protocol.

 For proper performance and personal safety, be sure to select the proper size PREFORMED™

 product before application.

PREFORMED products are precision devices. To ensure proper performance, they should be stored in 
 cartons under cover and handled carefully.

2

3' x 3'

Completed installation of the Perch onto the RAPTOR PROTECTORTM Platform.STEP #4

5' x 5'


